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a=18.0

for i in range(45,65):

h = 2xxi F— Jhs D, ZDEFE (H5FEH SHBEET) FEICAATOC

c = (ath)-b #— for /2, faeb) DS BERFFANS.

print (Ta=",a,”, h = 2°7,i,7 -=> (ath) -h = ",c,” -—- (a == (ath)-h) = ",a==¢]

¥ Tay DB, Thy DE, b)) by OFFEE (= for DE) . o DEL for PENELHE IDEEFHR
a= 18.0 , b=2" 45 --> {ath) -h = 18.0 --- {a == {ath)-h) = True
a= 18.0 , b=2" 46 --> f{ath) -h = 18.0 --- {a == {ath)-h) = True .
2= 18.0 , b= 2" 47 - {ath) -b = 18.0 -— (a == (a+h)-b) = True fﬁﬁﬁ{ﬁd)j{%@’ﬁ&ﬁ&d\é\
a= 18.0 , b=2"48 --> (ath) -b = 18.0 --- {a == (ath)-h) = True <~ — R S L1
= 18.0, b=2 48 --> (ath) b = 18.0 - (a == (ath)-h) = True THIERLTOEEMNEYIK
a= 18.0 , b =280 --» fath) -b = 18.0 --- (a == {ath)-b) = True JINXFT & N
a= 18.0 , b =2"81 --» {ath) -b = 18.0 --- (a == {ath)-b) = True éj/l'é&‘ ] é &gﬁ{I-Eé{Z:b
a= 18.0, b =2"562 --> (ath) b = 18.0 --- (a == (a+hJ-h) = True ttOoELRMEN=Y . 2258
a= 18.0 , b=2" 583 --» {ath) -h = 18.0 --- {a == {ath)-h) = True -
a= 18.0 , b =2" 84 --» (ath) -h = 16.0 --- (a == (ath)-h) = Falsze Fiﬁﬁf:1ﬁt‘:bf*&bn
a= 18.0 , b =2"55 --» (ath) -b = 16.0 --- (a == (ath)-h) = False —~ [
a= 18.0 , b =2" 86 --> (ath) -b = 16.0 --- (a == (ath)-h) = False T‘ )-d-éo /
a= 18.0 , b=2" 567 --» fath) -h = 32.0 --- {a == {ath)-h) = False
a= 18.0 , bh=2"88 --» {ath) -b = 0.0 --- {a == {ath)-h] = False
a= 18.0 , b=2"583% --» {ath) -h = 0.0 --- {a == {ath)-b) = False
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